Test Chapter 4 A.P. Calculus Name

|. Multiple Choice
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6. If y=Arctan(2x), Then g—y =
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7. Let f(x)=cos(Arctanx). Whatistherangeof f?
A) —%<y<% B) O<y<l C) 0<y<1
D) -1<y<l E) -1<y<1
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9. A 20foot ladder slidesdown awall at 5 ft/sec. At what speed is the bottom
sliding out when the top of the ladder is 10 feet from the floor?
A) 0.346ft/sec  B) 2.887ft/lsec  C) 0.224 ft/sec
D) 5.774ft/sec  E) 4.472 ft/sec

Il1. Free Response Show all work.

10. Determine g—y if x°y*-sin(2x)=y
X

Cod
11. Determine &(Tan l(::"»e2 ))

12. Givetheexact value of SN (SI nt &j +cost (1—53]}
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15.

16.

17.
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19.

20.

Sketch the graph of y = Sin"'x
Derive the formulafor the derivativeof y = Cos*x

Water flows at 8 cubic feet per minute into a cylinder with radius 4 feet. How fast is
the water level rising?

Determine the derivative of y =2".

Determine the derivativeof y=x*.

Determine the number of yearsit takes to accumulate $1,000 if you start with
$600 invested at 5.25% compounded quarterly.

Use the compound interest formulac A=P (1+ Lj mt
m

Extra Credit: Determine the effective Annual Yield of 6% compounded quarterly.



